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1) Broadcast media is linked with . [Question ID = 18607]

1. Books [Option ID = 44419]

2. Telephone [Option ID = 44421]
3. Radio [Option ID = 44420]

4. Internet [Option ID = 44422]

Correct Answer :-

» Radio [Option ID = 44420]

2) Read the following statements:

i. Jallikattu is a tradition practiced to worship cattle stock.

ii. Kambala is an annual bull race held in Karnataka.

Which of the above statement/s is/are correct? [Question ID = 18668]

1. Bothiand ii [Option ID = 44665]
2. i only [Option ID = 44664]

3. ionly [Option ID = 44663]

4. Neither i nor ii [Option ID = 44666]

Correct Answer :-
« ionly [Option ID = 44663]

3) When you pass off someone’s work as your own, it is not called . [Question ID = 18633]

1. Plagiarism [Option ID = 44524]

2. Copyright [Option ID = 44525]

3. Piracy [Option ID = 44526]

4. Infringement of copyright [Option ID = 44523]

Correct Answer :-
« Copyright [Option ID = 44525]

4) Permanent Hair straightening technology uses . [Question ID = 18659]

1. hot air only [Option ID = 44627]

2. protein serum and hot air [Option ID = 44629]
3. lipid solution and hot air [Option ID = 44630]
4. hot iron rod [Option ID = 44628]

Correct Answer :-
« protein serum and hot air [Option ID = 44629]

5) 'Right to Privacy’ has been declared as a Fundamental Right by the Supreme Court of India. This is inherent to which of the following
Article of the constitution? [Question ID = 18642]

1. 22 [Option ID = 44562]
2. 20 [Option ID = 44559]
3. 21 [Option ID = 44560]
4. 23 [Option ID = 44561]

Correct Answer :-
« 21 [Option ID = 44560]

6) To combat air pollution the efficacy of anti-smog guns was tested in Anand Vihar, Delhi. Which of the following ingredient is used in an
anti-smog gun? [Question ID = 18656]

1. Liquid nitrogen [Option ID = 44617]
2. Water [Option ID = 44615]

3. Liquid CO, [Option ID = 44618]

4. Dry ice [Option ID = 44616]



Correct Answer :-
« Water [Option ID = 44615]

7) The phenomena of reduced individual effort when working on a collective task is called . [Question ID = 18623]

1. Group Polarization [Option ID = 44484]
2. Social Facilitation [Option ID = 44483]
3. Social Loafing [Option ID = 44485]

4. Social Influence [Option ID = 44486]

Correct Answer :-
« Social Loafing [Option ID = 44485]

8) Rohingya crisis happened in . [Question ID = 18666]

1. Tibet [Option ID = 44657]

2. Myanmar [Option ID = 44656]
3. Bhutan [Option ID = 44658]
4. Maldives [Option ID = 44655]

Correct Answer :-
* Myanmar [Option ID = 44656]

9) The word 'UDAAN' is related to . [Question ID = 18619]

1. Medium Small Micro Enterprises [Option ID = 44468]

2. Regional connectivity and cheap air fare [Option ID = 44470]

3. Scholarship for education in foreign universities [Option ID = 44469]
4. Start-up India [Option ID = 44467]

Correct Answer :-
« Regional connectivity and cheap air fare [Option ID = 44470]

10) Shetkari Bazar, a concept of direct marketing by producer (farmer) to consumers is practiced in . [Question ID = 18681]

1. Gujarat [Option ID = 44715]

2. Haryana [Option ID = 44717]

3. Punjab [Option ID = 44718]

4. Maharashtra [Option ID = 44716]

Correct Answer :-
« Maharashtra [Option ID = 44716]

11) In the definition of GDP, “market value” refers to [Question ID = 18679]

1. valuing production in production units. [Option ID = 44707]

2. valuing production according to the market price. [Option ID = 44709]
3. valuing production according to the public opinion [Option ID = 44710]
4. not counting intermediate products. [Option ID = 44708]

Correct Answer :-
« valuing production according to the market price. [Option ID = 44709]

12) Acid Rain is caused by . [Question ID = 18613]

1. Nitrogen Oxide and Ozone [Option ID = 44444]

2. Nitrogen Oxide and Carbon Dioxide [Option ID = 44443]
3. Nitrogen Oxide and Hydrocarbon [Option ID = 44445]

4. Nitrogen Oxide and Sulphur Dioxide [Option ID = 44446]

Correct Answer :-
» Nitrogen Oxide and Sulphur Dioxide [Option ID = 44446]

13) The earliest coins, known as the punch-marked coins, were made largely of . [Question ID = 18643]

1. Gold [Option ID = 44566]
2. Copper [Option ID = 44565]
3. Lead [Option ID = 44563]
4. Silver [Option ID = 44564]



Correct Answer :-
« Silver [Option ID = 44564]

14) A colour blind person is one who . [Question ID = 18658]

1. cannot distinguish only between red and green colour [Option ID = 44625]
2. cannot identify secondary colours [Option ID = 44624]

3. cannot identify colours [Option ID = 44623]

4. cannot distinguish only between red and yellow colour [Option ID = 44626]

Correct Answer :-
« cannot distinguish only between red and green colour [Option ID = 44625]

15) If 1st January, 2006 was a Sunday, on what day did 1st of January, 2010 fall? [Question ID = 18627]

1. Sunday [Option ID = 44502]

2. Monday [Option ID = 44499]

3. Wednesday [Option ID = 44500]
4. Friday [Option ID = 44501]

Correct Answer :-
» Friday [Option ID = 44501]

16) The word 'Digital Infopedia’ is related to . [Question ID = 18620]

1. Association of Southeast Asian Nations (ASEAN) [Option ID = 44474]

2. National Institute of Solar Energy (NISE) [Option ID = 44473]

3. European Union (EU) [Option ID = 44472]

4. Brazil, Russia, India, China and South Africa (BRICS) [Option ID = 44471]

Correct Answer :-
« National Institute of Solar Energy (NISE) [Option ID = 44473]
17) Consider two trucks of the same make having equal weights. One of the trucks is loaded with 2000 kg of iron ore while the other

truck is empty. Assuming that these two trucks are running parallel at the same speed, if both the truck drivers apply breaks with the
same force simultaneously, which of the following statements will be true for their halt? [Question ID = 18653]

1. Data insufficient as the fuel is unknown. [Option ID = 44606]

2. Both trucks will travel equal distance before stopping. [Option ID = 44603]
3. The loaded truck will stop earlier. [Option ID = 44605]

4. The empty truck will stop earlier. [Option ID = 44604]

Correct Answer :-
* The empty truck will stop earlier. [Option ID = 44604]

18) Anupam Misra, a renowned activist, is known for his work in the area of . [Question ID = 18621]

1. Tribal Art [Option ID = 44478]

2. Poverty and hunger [Option ID = 44477]
3. Environment [Option ID = 44475]

4. Child rights [Option ID = 44476]

Correct Answer :-
» Environment [Option ID = 44475]

19) To be non-credible, media should indulge in . [Question ID = 18634]

1. printing believable stories. [Option ID = 44527]

2. covering stories impartially. [Option ID = 44529]

3. being accurate while reporting [Option ID = 44530]
4. sensationalizing stories. [Option ID = 44528]

Correct Answer :-
« being accurate while reporting [Option ID = 44530]

20) An example of media convergence is . [Question ID = 18610]

1. the newspaper [Option ID = 44431]
2. the magazine [Option ID = 44434]
3. the radio [Option ID = 44432]



4. the internet [Option ID = 44433]

Correct Answer :-
« the internet [Option ID = 44433]

21) You have a Facebook account and was shared an article which had content of violence against women. You . [Question ID =
18635]

1. comment about the negative content of the video and share it. [Option ID = 44533]
2. dislike the video. [Option ID = 44532]

3. report it to the authorities. [Option ID = 44534]

4. delete the video from your account. [Option ID = 44531]

Correct Answer :-
« report it to the authorities. [Option ID = 44534]

22) Blu-ray and Bluetooth . [Question ID = 18650]

1. are fundamentally different. [Option ID = 44593]

2. use the same technology. [Option ID = 44592]

3. are both used for data storage. [Option ID = 44594]
4. have the same functions. [Option ID = 44591]

Correct Answer :-
« are fundamentally different. [Option ID = 44593]

23) What is the time difference between longitudes? [Question ID = 18675]

1. 4 minutes [Option ID = 44693]
2. 4 minutes 20 seconds [Option ID = 44694]
3. 5 minutes [Option ID = 44691]
4. 5 minutes 20 seconds [Option ID = 44692]

Correct Answer :-
* 4 minutes [Option ID = 44693]

24) What is pluralism? [Question ID = 18609]

1. None of these [Option ID = 44430]

2. It is a society state under which people can choose the media vehicles according to their tastes and preferences. [Option ID = 44428]
3. It is a social structure that allows and assures the distribution of multiple messages. [Option ID = 44427]

4. It is a ruling of an autocratic ruler that forces the masses to choose a number of media for collecting information. [Option ID = 44429]

Correct Answer :-
« Itis a social structure that allows and assures the distribution of multiple messages. [Option ID = 44427]

25) In march 2017, the high court of Uttarakhand gave a decision on the rivers Ganga and Yamuna opining that they

[Question ID = 18617]

1. are in need of protection from the Government of India [Option ID = 44459]
2. are the religious identities of the Hindu community [Option ID = 44460]

3. are living entities [Option ID = 44461]

4. are the national rivers of India [Option ID = 44462]

Correct Answer :-
« are living entities [Option ID = 44461]

26) POCSO Act is related to . [Question ID = 18638]

1. Gender Rights [Option ID = 44543]

2. Rights of Minorities [Option ID = 44546]
3. Tribal Rights [Option ID = 44545]

4. Child Abuse [Option ID = 44544]

Correct Answer :-
o Child Abuse [Option ID = 44544]

27) Air quality, measured by Air Quality Index (AQI), has a good quality air range between Question ID = 18657]

— I



1. 0-200 [Option ID = 44621]
2. 0-100 [Option ID = 44620]
3. 0-500 [Option ID = 44622]
4. 0-50 [Option ID = 44619]

Correct Answer :-
* 0-50 [Option ID = 44619]

28) Faisal is two years older than Amir who is twice as old as Naman. If the total of the ages of Faisal, Amir and Naman is 27, then how
old is Amir? [Question ID = 18631]

1. 11 [Option ID = 44516]
2. 9 [Option ID = 44518]

3. 12 [Option ID = 44517]
4. 10 [Option ID = 44515]

Correct Answer :-
e 10 [Option ID = 44515]

29) Thomas Roe was sent as the British Ambassador to the Court of . [Question ID = 18645]

1. Aurangzeb [Option ID = 44574]
2. Akbar [Option ID = 44571]

3. Shah Jahan [Option ID = 44573]
4. Jahangir [Option ID = 44572]

Correct Answer :-
« Jahangir [Option ID = 44572]

30) Raju ranks 4th in a class. Bhuvan ranks 9th from the last. If Chandra is 9th after Raju and just in the middle of Raju and Bhuvan, how
many students are there in the class?

[Question ID = 18630]

1. 34 [Option ID = 44514]
2. 32 [Option ID = 44511]
3. 35 [Option ID = 44513]
4, 30 [Option ID = 44512]

Correct Answer :-
o 30 [Option ID = 44512]

31) Social Innovation refers to . [Question ID = 18660]

1. Using latest technology to replace the existing solution of a social problem. [Option ID = 44633]

2. Novel solution to a social problem that is more effective, efficient and sustainable than the existing solutions. [Option ID = 44631]
3. A new solution to social problems provided by the governmental agencies for the development of an area. [Option ID = 44632]

4. A solution to a social problem brought about by entrepreneurs to facilitate better marketing [Option ID = 44634]

Correct Answer :-
« Novel solution to a social problem that is more effective, efficient and sustainable than the existing solutions. [Option ID = 44631]

32) Consider the following statements about Sophia, the humanoid robot
1. is a citizen of Saudi Arabia.

2. has been developed by Hanson Robotics.

Which of the above statement/s is/are true?

[Question ID = 18648]

1. Both 1 and 2 [Option ID = 44585]
2. 2 only [Option ID = 44584]

3. 1 only [Option ID = 44583]

4. Neither 1 nor 2 [Option ID = 44586]

Correct Answer :-
« Both 1 and 2 [Option ID = 44585]

33) Which of the following tribal community practices polyandry? [Question ID = 18671]



Ho [Option ID = 44676]
Lotha [Option ID = 44677]
Brokpa [Option ID = 44675]
Konyak [Option ID = 44678]

N

Correct Answer :-

* Brokpa [Option ID = 44675]

34) Which of the following factors influences the mechanism of Indian weather?
i. The shifting in the position of ITCZ

ii. EI-Nino

iii. Jet Streams [Question ID = 18676]

1. ii and iii [Option ID = 44698]

2. i and ii only [Option ID = 44696]
3. i, ii and iii [Option ID = 44697]
4. i only [Option ID = 44695]

Correct Answer :-
« i, ii and iii [Option ID = 44697]

35) Which of the following is not correctly matched? [Question ID = 18663]

1. S H Raza - Bindu Art [Option ID = 44646]

2. Pablo Picasso — Cubism [Option ID = 44643]

3. Leonardo Da Vinci — The Last Supper [Option ID = 44644]
4. Tyeb Mehta — Architectural Art [Option ID = 44645]

Correct Answer :-
« Tyeb Mehta — Architectural Art [Option ID = 44645]

36) Which one of the following is not an element of art? [Question ID = 18662]

1. Line [Option ID = 44639]

2. Colour [Option ID = 44640]

3. Value [Option ID = 44642]

4. Photograph [Option ID = 44641]

Correct Answer :-
« Photograph [Option ID = 44641]

37) In terms of the increasing level of acidity, which of the following option has been correctly sequenced. [Question ID = 18654]

1. Mango, Lemon, Pomegranate [Option ID = 44610]
2. Mango, Pomegranate, Lemon [Option ID = 44608]
3. Pomegranate, Mango, Lemon [Option ID = 44609]
4. Lemon, Pomegranate, Mango [Option ID = 44607]

Correct Answer :-
* Pomegranate, Mango, Lemon [Option ID = 44609]

38) An editorial is . [Question ID = 18608]

1. a point of view of a stakeholder. [Option ID = 44424]

2. a point of view of the chief editor. [Option ID = 44426]

3. a piece of interview. [Option ID = 44423]

4. one-sided approach of the Government. [Option ID = 44425]

Correct Answer :-
« a point of view of a stakeholder. [Option ID = 44424]

39) Article 356 of the Indian Constitution is related to which of the following? [Question ID = 18639]

1. Internal Emergency [Option ID = 44549]

2. National Emergency [Option ID = 44550]

3. Proclamation of Emergency [Option ID = 44547]
4. President’s Rule [Option ID = 44548]

Correct Answer :-
e President’s Rule [Option ID = 44548]



40) The Mughal Emperor who was an excellent connoisseur of paintings was . [Question ID = 18644]

1. Aurangzeb [Option ID = 44570]
2. Akbar [Option ID = 44567]

3. Shah Jahan [Option ID = 44569]
4. Jahangir [Option ID = 44568]

Correct Answer :-
« Jahangir [Option ID = 44568]

41) The Hindi feature film ‘Newton’ dealt with the issue of . [Question ID = 18665]

1. Science and technology [Option ID = 44651]

2. Challenges faced in conducting elections in disturbed areas [Option ID = 44653]
3. Life of Sir Issac Newton [Option ID = 44654]

4. Social networking [Option ID = 44652]

Correct Answer :-
» Challenges faced in conducting elections in disturbed areas [Option ID = 44653]

42) Match the following:

i. Frontal Lobe a. Sensation & coordination

ii. Parietal Lobe b. Speech & language functions
iii. Temporal Lobe . Visual information

iv. Occipital Lobe d. Cognitive functions

[Question ID = 18625]

1. i(c); ii(b); iii(d); iv(a) [Option ID = 44493]
2. i(d); ii(a); iii(b); iv(c) [Option ID = 44491]
3. i(b); ii(d); iii(a); iv(c) [Option ID = 44494]
4. i(b); ii(a); iii(c); iv(d) [Option ID = 44492]

Correct Answer :-

e i(d); ii(a); iii(b); iv(c) [Option ID = 44491]

43) mMatch the following.

i Daollard & Miller a. Somatic Theory

i.  Schachter & Singer b. Simultaneous Arousal of Emotions & Physiology
i lames-Lange C. Frustration-Aggression Hypothesis

iv. Cannon-Bard d. Cognitive-Affective Theary

[Question ID = 18622]

1. i(c); ii(d); iii(a); iv(b) [Option ID = 44482]
2. i(d); ii(a); iii(b); iv(c) [Option ID = 44480]
3. i(a); ii(b); ii(c); iv(d) [Option ID = 44479]
4. i(b); ii(c); iii(d); iv(a) [Option ID = 44481]

Correct Answer :-

* i(c); ii(d); iii(a); iv(b) [Option ID = 44482]

44) watch the following and choose the correct option.

Magazine Genre

L. Verve a. Children

i. The Caravan b. Current Affairs

ii. OPEN c. Politics and Culture
iv. Champak d. Women's Lifestyle

[Question ID = 18611]

1. i (d); ii (b); iii (c); iv (a) [Option ID = 44438]
2. i (d); ii (c); iii (b); iv (a) [Option ID = 44436]
3.i(b); ii (a); iii (d); iv (c) [Option ID = 44435]
4. i (d); ii (c); iii (@); iv (b) [Option ID = 44437]



Correct Answer :-
e i(d); ii (c); iii (b); iv (a) [Option ID = 44436]

45) Match the following instruments with their patrons?

i Tefsen sisters a. Budraveena
il Akbar Khan b. Bakhawai
iii- Pt. Bavishankar Unadhya, c. T8t
. Shiv Kumar Sharma d.Pena

e. Sanfoor

[Question ID = 18672]

1. i (b); ii (d); iii (e); iv (c) [Option ID = 44682]

2. i(a); i (b); iii (c); iv (d) [Option ID = 44681]
3. i (e); ii (c); iii (b); iv (d) [Option ID = 44679]
4. i(c); ii (@); iii (b); iv (e) [Option ID = 44680]

Correct Answer :-

« i (C); ii (@); iii (b); iv (e) [Option ID = 44680]

46) Match the following:

i. Dandi March a. Quit India Movement
il Eripps Mission b. Non-Cooperation Movement
iii- Ghauri Chaura Incident c. Civil Disobedience Movement

v Jallignwela Bagh Massacre  d. Bowlatt Act

[Question ID = 18647]

1. i(d); ii (a); iii (b); iv (c) [Option ID = 44581]
2. i (c); ii (b); iii (a); iv (d) [Option ID = 44580]
3. i (c); ii (@); iii (b); iv (d) [Option ID = 44579]
4.1 (d); ii (b); iii (a); iv (c) [Option ID = 44582]

Correct Answer :-
e i(c); ii (a); iii (b); iv (d) [Option ID = 44579]

47) Find the missing letters in the following series:
A, B,B,D,C F, D, H,E, ?, ? [Question ID = 18628]

1. ], F [Option ID = 44503]
2. F, E [Option ID = 44506]
3. F, G [Option ID = 44504]
4. 1, F [Option ID = 44505]

Correct Answer :-
« ], F [Option ID = 44503]

48) Choose the correct sequence of Grand Slams as per a calendar year [Question ID = 18664]

1. French Open — Australian Open —Wimbledon Open — US Open [Option ID = 44649]
2. Australian Open — Wimbledon Open — French Open — US Open [Option ID = 44648]
3. Wimbledon Open — Australian Open — French Open — US Open [Option ID = 44650]
4. Australian Open — French Open — Wimbledon Open — US Open [Option ID = 44647]

Correct Answer :-
« Australian Open — French Open — Wimbledon Open — US Open [Option ID = 44647]

49) The 123rd amendment of the Indian Constitution is related to . [Question ID = 18618]

1. Mental Health Bill, 2016 [Option ID = 44465]

2. GST Constitutional Amendment Act [Option ID = 44463]

3. Constitutional status of the commission for the backward classes [Option ID = 44466]
4. Maternity Benefit Amendment Bill 2016 [Option ID = 44464]

Correct Answer :-
« Constitutional status of the commission for the backward classes [Option ID = 44466]



50) Pointing to a man, a lady told, his father is her mother’s uncle. How is the man related to the lady? [Question ID = 18629]

1. Cousin [Option ID = 44510]

2. Father [Option ID = 44507]

3. Grandfather [Option ID = 44509]
4. Uncle [Option ID = 44508]

Correct Answer :-
« Uncle [Option ID = 44508]

51) Which of the following is not true about the Residuary List of the Indian constitution? [Question ID = 18641]

1. Only the Centre can make laws. [Option ID = 44555]
2. Only the State can make laws. [Option ID = 44556]

3. The President can make laws. [Option ID = 44558]

4. Both Centre and State make laws. [Option ID = 44557]

Correct Answer :-

52) Which of the following was setup to discuss, analyse and implement strategies for inclusive innovation in India and prepare a
Roadmap for Innovation 2010-2020? [Question ID = 18661]

1. Make in India [Option ID = 44635]

2. National Innovation Council [Option ID = 44637]
3. Smart India Hackathon [Option ID = 44638]

4. Startup India [Option ID = 44636]

Correct Answer :-
« National Innovation Council [Option ID = 44637]

53) Which of the following cities of India are taken into consideration while calculating the ‘ease of doing business index’? [Question ID

= 18680]

1. Mumbai only [Option ID = 44711]

2. Delhi and Mumbai only [Option ID = 44712]
3. Delhi only [Option ID = 44714]

4. Mumbai and Ahmedabad [Option ID = 44713]

Correct Answer :-
o Delhi and Mumbai only [Option ID = 44712]

54) Which of the following is the correct sequence according to Islamic Calendar? [Question ID = 18669]

1. Eidul Adha - Ramzan - Eidul Fitr
2. Ramzan - Eidul Fitr - Eidul Adha
3. Ramzan - Eidul Adha - Eidul Fitr
4. Eidul Fitr - Ramzan - Eidul Adha

Option ID = 44669]
Option ID = 44667]
Option ID = 44668]
Option ID = 44670]

— ==

Correct Answer :-
* Ramzan - Eidul Fitr - Eidul Adha [Option ID = 44667]

55) Which of the following is not an ethical consideration in social science research? [Question ID = 18636]

1. Deception [Option ID = 44535]

2. Informed Consent [Option ID = 44537]

3. Voluntary participation [Option ID = 44538]
4. Right to withdraw [Option ID = 44536]

Correct Answer :-
» Deception [Option ID = 44535]

56) Which of the following is not a form of social stratification? [Question ID = 18652]

1. Class [Option ID = 44599]

2. Gender [Option ID = 44602]
3. Caste [Option ID = 44601]

4. Religion [Option ID = 44600]

Correct Answer :-
« Religion [Option ID = 44600]



57) Which of the following is not a Developmental Disorder? [Question ID = 18624]

1. Anti-Social Personality Disorder [Option ID = 44489]
2. Learning Disabilities [Option ID = 44488]

3. Intellectual Disabilities [Option ID = 44490]

4. Autism Disorder [Option ID = 44487]

Correct Answer :-
« Anti-Social Personality Disorder [Option ID = 44489]

58) Which of the following is not a land reform introduced by British India? [Question ID = 18646]

1. Permanent Settlement [Option ID = 44576]
2. Mahalwari System [Option ID = 44578]

3. Ryotwari System [Option ID = 44577]

4. Doctrine of Lapse [Option ID = 44575]

Correct Answer :-
» Doctrine of Lapse [Option ID = 44575]

59) Which of the following is not a World Heritage Site under UNESCO’s World Heritage Convention list? [Question ID = 18677]

1. Jantar Mantar, Jaipur [Option ID = 44701]
2. Jantar Mantar, Delhi [Option ID = 44702]
3. Elephanta Caves [Option ID = 44699]

4. Ajanta Caves [Option ID = 44700]

Correct Answer :-
« Jantar Mantar, Delhi [Option ID = 44702]

60) Which of the following state has the largest forest cover as per the latest Ministry of Environment and Forests (MoEF) data in India?
[Question ID = 18614]

1. Arunachal Pradesh [Option ID = 44447]
2. Maharashtra [Option ID = 44448]

3. Kerala [Option ID = 44450]

4. Madhya Pradesh [Option ID = 44449]

Correct Answer :-
* Madhya Pradesh [Option ID = 44449]

61) Which of the following drink contains clinically proven anti-cancerous property? [Question ID = 18655]

1. Tea [Option ID = 44613]
2. Coffee [Option ID = 44611]
3. Milk [Option ID = 44612]
4. Beer [Option ID = 44614]

Correct Answer :-
« Tea [Option ID = 44613]

62) Which of the following statements is/are correct about National Green Tribunal (NGT)?
1. NGT was established for effective and expeditious disposal of cases relating to environmental protection.
2. Delhi is one of the places for sitting of the Tribunal. [Question ID = 18615]

1. 1 Only [Option ID = 44451]

2. Both 1 and 2 [Option ID = 44453]
3. Neither 1 nor 2 [Option ID = 44454]
4. 2 Only [Option ID = 44452]

Correct Answer :-
» Both 1 and 2 [Option ID = 44453]

63) Which of the following statements is/are true about environmental activist Prafulla Samantra?
I. Protecting the Niyamagiri Hills of Odisha from a massive, open-pit aluminum ore mine.
I1. Winner of Goldman Prize 2017. [Question ID = 18616]

1. 2 only [Option ID = 44456]
2. 1 only [Option ID = 44455]
3. Both 1 and 2 [Option ID = 44457]



4. Neither 1 nor 2 [Option ID = 44458]

Correct Answer :-
» Both 1 and 2 [Option ID = 44457]

64) Which of the following is not correct? [Question ID = 18673]

1. Shipki La is through the Satluj gorge. [Option ID = 44684]
2. Aghil Pass connects Ladakh with Tibet. [Option ID = 44683]
3. Zajila connects Srinagar with Ladakh. [Option ID = 44686]
4. Rohtang Pass lies in Himachal Pradesh. [Option ID = 44685]

Correct Answer :-
« Aghil Pass connects Ladakh with Tibet. [Option ID = 44683]

65) Which of the following is not correctly matched? [Question ID = 18626]

1. Car Crash Experiment - Aggression [Option ID = 44498]

2. Eyewitness Testimony - Memory Experiments [Option ID = 44495]
3. Autokinetic Effect - Conformity Experiment [Option ID = 44496]

4. Bystander Effect - Helping Behaviour [Option ID = 44497]

Correct Answer :-
« Car Crash Experiment - Aggression [Option ID = 44498]

66) Which of the following is the first Internet search engine? [Question ID = 18649]

1. Archie [Option ID = 44588]
2. Altavista [Option ID = 44590]
3. Google [Option ID = 44587]
4. Yahoo [Option ID = 44589]

Correct Answer :-
» Archie [Option ID = 44588]

67) Which of the following data storage system can provide the maximum storage capacity? [Question ID = 18667]

1. DNA Digital Data Storage System [Option ID = 44662]
2. Magnetic Tapes System [Option ID = 44660]

3. Solid State Device [Option ID = 44659]

4. Hard Drives [Option ID = 44661]

Correct Answer :-
« DNA Digital Data Storage System [Option ID = 44662]

68) Which of the following was added in the 42nd Constitutional Amendment of the Indian Constitution? [Question ID = 18640]

1. Directive Principles of the State Policy [Option ID = 44552]

2. Panchayati Raj [Option ID = 44554]

3. Fundamental Duties [Option ID = 44553]

4. Reservation policy for the Other Backward Classes [Option ID = 44551]

Correct Answer :-
« Fundamental Duties [Option ID = 44553]

69) *.gif is an extension of . [Question ID = 18651]

1. Audio file [Option ID = 44596]
2. Word file [Option ID = 44597]
3. Image file [Option ID = 44598]
4. Video file [Option ID = 44595]

Correct Answer :-
« Image file [Option ID = 44598]

70) Good Friday is a festival commemorating the . [Question ID = 18670]

1. Birth of Jesus Christ [Option ID = 44674]
2. Crucification of Jesus Christ [Option ID = 44671]
3. Baptism of Jesus Christ [Option ID = 44673]



4. Resurrection of Jesus Christ [Option ID = 44672]

Correct Answer :-
« Crucification of Jesus Christ [Option ID = 44671]

71) You are preparing for a review of an educational institution to assess their accessibility in terms of inclusivity. You . [Question
ID = 18632]

1. Take a look around the institution, take photos and publish them as proof. [Option ID = 44521]

2. Call up the administration and take a review over the phone. [Option ID = 44519]

3. Talk to all the stakeholders and then file a report with the appropriate authorities. [Option ID = 44522]
4. Talk to the students and write the review. [Option ID = 44520]

Correct Answer :-
« Talk to all the stakeholders and then file a report with the appropriate authorities. [Option ID = 44522]

72) Free movement regime is related to which of the following countries? [Question ID = 18637]

1. U.K. and Canada [Option ID = 44542]

2. U.S.A. and Mexico [Option ID = 44541]
3. India and Myanmar [Option ID = 44539]
4. China and Pakistan [Option ID = 44540]

Correct Answer :-
» India and Myanmar [Option ID = 44539]

73) Alaknanda and Mandakini make a confluence at . [Question ID = 18674]

1. Dev Prayag [Option ID = 44687]

2. Rudra Prayag [Option ID = 44689]
3. Karan Prayag [Option ID = 44688]
4. Vishnu Prayag [Option ID = 44690]

Correct Answer :-
« Rudra Prayag [Option ID = 44689]

74) The Particulate Matter (PM-10) inhaled from the polluted atmosphere is often filtered out during the process of .
[Question ID = 18612]

1. Vomiting [Option ID = 44440]
2. Coughing [Option ID = 44439]
3. Urination [Option ID = 44441]
4. Perspiration [Option ID = 44442]

Correct Answer :-
« Coughing [Option ID = 44439]

75) As per the global Multidimensional Poverty Index (MPI), which of the following is not a component for calculating Human Poverty
Index? [Question ID = 18678]

1. Life Expectancy [Option ID = 44706]
2. Living Standards [Option ID = 44705]
3. Health [Option ID = 44703]

4. Education [Option ID = 44704]

Correct Answer :-
« Life Expectancy [Option ID = 44706]

Topic:- DU_J18_BA_HSS_English 25Qs

1) His downfall was brought about by his powerful desire.
Replace the italicized words by

[Question ID = 18690]

1. no improvement. [Option ID = 44754]
2. his intense desire. [Option ID = 44751]



3. his fatal desire. [Option ID = 44753]
4. his desire for power. [Option ID = 44752]

Correct Answer :-
« his desire for power. [Option ID = 44752]

2) Passage 5

The concept of 'creative society' refers to a phase of development of a society in which a large
number of potential contradictions become articulate and active. This is most evident when
oppressed social groups get politically mobilized and demand their rights. The upsurge of the
peasants and iribals, the movements for regional autonomy and self-determination, the
environmental movements, and the women's movements in the developing countries are signs of
emergence of creative society in contemporary times. The forms of social movements and their
intensity may vary from country to country and place to place within a country. But the very presence
of movements for social transformation in various spheres of a society indicates the emergence of a

creative society in a country.

The term ‘creative society’ implies [Question ID = 18706]

1. A society where art and literary writings are prevalent. [Option ID = 44817]

2. A society where social movements take place frequently. [Option ID = 44816]

3. A society where social inequalities is @ norm. [Option ID = 44815]

4. A society where disadvantaged groups of the society become aware of their rights & potential. [Option ID = 44818]

Correct Answer :-
« A society where disadvantaged groups of the society become aware of their rights & potential. [Option ID = 44818]

3) Passage 5

The concept of 'creative society' refers to a phase of development of a society in which a large
number of potential contradictions become articulate and active. This is most evident when
oppressed social groups get politically mobilized and demand their rights. The upsurge of the
peasants and {ribals, the movements for regional autonomy and self-determination, the
environmental movements, and the women's movements in the developing countries are signs of
emergence of creative society in contemporary times. The forms of social movements and their
intensity may vary from country to country and place to place within a country. But the very presence
of movements for social transformation in various spheres of a society indicates the emergence of a
creative society in a country.

Consider the following statements.

1. Social movements are essential for a creative society.

2. Contradiction and conflicts will always lead to creative society.

Which of the statement/s given above is/are correct? [Question ID = 18707]

1. 2 only [Option ID = 44820]

2. 1 only [Option ID = 44819]

3. Both 1 & 2 [Option ID = 44821]

4. Neither 1 nor 2 [Option ID = 44822]

Correct Answer :-
« 1 only [Option ID = 44819]



Passage 3

The Voice has to be listened to, not only on account of its form but for the matter which it delivered.
It gave a message to the country that it needed greatly. It brought to the common people a realization
of their duty to concern themselves with their affairs. The commaon people were made to take an
interest in the manner in which they were governed in the taxes they paid in the return they got from
those taxes. This interest in public affairs — politics as you may call it — was to be the concern no
longer of the highly educated few of the many — the poor, the propertyless, the working men in town
and country. Politics was not to be the concern of a small aristocracy of intellect or property of the
masses. And with the change in the subjects of politics had busied itself mainly with the machinery of
Government towards making its personnel more and more native, with proposals for a better
distribution of political power, with protests against the sins of omissions and of commissions of the
administration. This Voice switched politics on to concern for the needs of the common people. The
improvement of the lot of the poor was to be the main concern of politics and the politician. The
improvement, especially of the lives of the people of the neglected villages, was to be placed before
Governments and political organizations as the goal of all political endeaver. The raising of the
standard of living of the people of the villages, the finding of subsidiary occupations which would give
the agricultural poor work for their enforced leisure during the off season, an addition to their
exiguous income, the improvement of the housing of the poor, the sanitation of the villages — these
were to be the objectives to be keptin mind.

There was especially a class of the poor for which that compassionate Voice pleaded and protested —
the so-called depressed class, the outcasts of Hindu society. The denial of elementary human rights to
this class of people is considered the greatest blot on Hindu society and history. It raised itself in
passionate protest against the age-old wrongs of this class and forced those that listened to it to
endeavor to remove the most outrageous of them like untouchability. It caused a revolution in Hindu
religious practice by having Hindu by having Hindu temples thrown open to these people. It made the
care of them a religious duty of the Hindus by re-naming them Harijan.
Mr. Ruthnasami

According to the Voice, the greatest blot on Hindu society and history was
[Question ID = 18697]

1. Poor people not receiving special attention. [Option ID = 44779]

2. Poor living standard of people living in the villages [Option ID = 44780]
3. Not allowing the Harijans to enter temples. [Option ID = 44782]

4. Denial of human rights to the depressed class. [Option ID = 44781]

Correct Answer :-
« Denial of human rights to the depressed class. [Option ID = 44781]



Passage 3

The Voice has to be listened to, not only on account of its form but for the matter which it delivered.
It gave a message to the country that it needed greatly. It brought to the common people a realization
of their duty to concern themselves with their affairs. The commaon people were made to take an
interest in the manner in which they were governed in the taxes they paid in the return they got from
those taxes. This interest in public affairs — politics as you may call it — was to be the concern no
longer of the highly educated few of the many — the poor, the propertyless, the working men in town
and country. Politics was not to be the concern of a small aristocracy of intellect or property of the
masses. And with the change in the subjects of politics had busied itself mainly with the machinery of
Government towards making its personnel more and more native, with proposals for a better
distribution of political power, with protests against the sins of omissions and of commissions of the
administration. This Voice switched politics on to concern for the needs of the common people. The
improvement of the lot of the poor was to be the main concern of politics and the politician. The
improvement, especially of the lives of the people of the neglected villages, was to be placed before
Governments and political organizations as the goal of all political endeaver. The raising of the
standard of living of the people of the villages, the finding of subsidiary occupations which would give
the agricultural poor work for their enforced leisure during the off season, an addition to their
exiguous income, the improvement of the housing of the poor, the sanitation of the villages — these
were to be the objectives to be keptin mind.

There was especially a class of the poor for which that compassionate Voice pleaded and protested —
the so-called depressed class, the outcasts of Hindu society. The denial of elementary human rights to
this class of people is considered the greatest blot on Hindu society and history. It raised itself in
passionate protest against the age-old wrongs of this class and forced those that listened to it to
endeavor to remove the most outrageous of them like untouchability. It caused a revolution in Hindu
religious practice by having Hindu by having Hindu temples thrown open to these people. It made the
care of them a religious duty of the Hindus by re-naming them Harijan.
Mr. Ruthnasami

The sins of omission and of commission has been committed by .

[Question ID = 18699]

1. Politics [Option ID = 44789]

2. The Voice [Option ID = 44790]

3. The poor people [Option ID = 44787]
4. The Government [Option ID = 44788]

Correct Answer :-
» The Government [Option ID = 44788]



Passage 3

The Voice has to be listened to, not only on account of its form but for the matter which it delivered.
It gave a message to the country that it needed greatly. It brought to the common people a realization
of their duty to concern themselves with their affairs. The commaon people were made to take an
interest in the manner in which they were governed in the taxes they paid in the return they got from
those taxes. This interest in public affairs — politics as you may call it — was to be the concern no
longer of the highly educated few of the many — the poor, the propertyless, the working men in town
and country. Politics was not to be the concern of a small aristocracy of intellect or property of the
masses. And with the change in the subjects of politics had busied itself mainly with the machinery of
Government towards making its personnel more and more native, with proposals for a better
distribution of political power, with protests against the sins of omissions and of commissions of the
administration. This Voice switched politics on to concern for the needs of the common people. The
improvement of the lot of the poor was to be the main concern of politics and the politician. The
improvement, especially of the lives of the people of the neglected villages, was to be placed before
Governments and political organizations as the goal of all political endeaver. The raising of the
standard of living of the people of the villages, the finding of subsidiary occupations which would give
the agricultural poor work for their enforced leisure during the off season, an addition to their
exiguous income, the improvement of the housing of the poor, the sanitation of the villages — these
were to be the objectives to be keptin mind.

There was especially a class of the poor for which that compassionate Voice pleaded and protested —
the so-called depressed class, the outcasts of Hindu society. The denial of elementary human rights to
this class of people is considered the greatest blot on Hindu society and history. It raised itself in
passionate protest against the age-old wrongs of this class and forced those that listened to it to
endeavor to remove the most outrageous of them like untouchability. It caused a revolution in Hindu
religious practice by having Hindu by having Hindu temples thrown open to these people. It made the
care of them a religious duty of the Hindus by re-naming them Harijan.
Mr. Ruthnasami

The main concern of politics and politicians should be [Question ID = 18698]

1. to give jobs to the people. [Option ID = 44784]

2. to improve the living conditions of the poor. [Option ID = 44785]

3. to ensure the Government implements policies well. [Option ID = 44786]
4. to ensure that people pay taxes. [Option ID = 44783]

Correct Answer :-
« to improve the living conditions of the poor. [Option ID = 44785]



Passage 3

The Voice has to be listened to, not only on account of its form but for the matter which it delivered.
It gave a message to the country that it needed greatly. It brought to the common people a realization
of their duty to concern themselves with their affairs. The commaon people were made to take an
interest in the manner in which they were governed in the taxes they paid in the return they got from
those taxes. This interest in public affairs — politics as you may call it — was to be the concern no
longer of the highly educated few of the many — the poor, the propertyless, the working men in town
and country. Politics was not to be the concern of a small aristocracy of intellect or property of the
masses. And with the change in the subjects of politics had busied itself mainly with the machinery of
Government towards making its personnel more and more native, with proposals for a better
distribution of political power, with protests against the sins of omissions and of commissions of the
administration. This Voice switched politics on to concern for the needs of the common people. The
improvement of the lot of the poor was to be the main concern of politics and the politician. The
improvement, especially of the lives of the people of the neglected villages, was to be placed before
Governments and political organizations as the goal of all political endeaver. The raising of the
standard of living of the people of the villages, the finding of subsidiary occupations which would give
the agricultural poor work for their enforced leisure during the off season, an addition to their
exiguous income, the improvement of the housing of the poor, the sanitation of the villages — these
were to be the objectives to be keptin mind.

There was especially a class of the poor for which that compassionate Voice pleaded and protested —
the so-called depressed class, the outcasts of Hindu society. The denial of elementary human rights to
this class of people is considered the greatest blot on Hindu society and history. It raised itself in
passionate protest against the age-old wrongs of this class and forced those that listened to it to
endeavor to remove the most outrageous of them like untouchability. It caused a revolution in Hindu
religious practice by having Hindu by having Hindu temples thrown open to these people. It made the
care of them a religious duty of the Hindus by re-naming them Harijan.
Mr. Ruthnasami

The Voice had to be listened to because [Question ID = 18695]

1. it made people aware of untouchability. [Option ID = 44774]
2. it gave a message of importance. [Option ID = 44773]

3. it gave an inspiring speech. [Option ID = 44771]

4. it gave us ideas on how to do politics. [Option ID = 44772]

Correct Answer :-
« it gave a message of importance. [Option ID = 44773]



Passage 3

The Voice has to be listened to, not only on account of its form but for the matter which it delivered.
It gave a message to the country that it needed greatly. It brought to the common people a realization
of their duty to concern themselves with their affairs. The commaon people were made to take an
interest in the manner in which they were governed in the taxes they paid in the return they got from
those taxes. This interest in public affairs — politics as you may call it — was to be the concern no
longer of the highly educated few of the many — the poor, the propertyless, the working men in town
and country. Politics was not to be the concern of a small aristocracy of intellect or property of the
masses. And with the change in the subjects of politics had busied itself mainly with the machinery of
Government towards making its personnel more and more native, with proposals for a better
distribution of political power, with protests against the sins of omissions and of commissions of the
administration. This Voice switched politics on to concern for the needs of the common people. The
improvement of the lot of the poor was to be the main concern of politics and the politician. The
improvement, especially of the lives of the people of the neglected villages, was to be placed before
Governments and political organizations as the goal of all political endeaver. The raising of the
standard of living of the people of the villages, the finding of subsidiary occupations which would give
the agricultural poor work for their enforced leisure during the off season, an addition to their
exiguous income, the improvement of the housing of the poor, the sanitation of the villages — these
were to be the objectives to be keptin mind.

There was especially a class of the poor for which that compassionate Voice pleaded and protested —
the so-called depressed class, the outcasts of Hindu society. The denial of elementary human rights to
this class of people is considered the greatest blot on Hindu society and history. It raised itself in
passionate protest against the age-old wrongs of this class and forced those that listened to it to
endeavor to remove the most outrageous of them like untouchability. It caused a revolution in Hindu
religious practice by having Hindu by having Hindu temples thrown open to these people. It made the
care of them a religious duty of the Hindus by re-naming them Harijan.
Mr. Ruthnasami

The Voice is [Question ID = 18694]

1. Pt. Jawaharlal Nehru [Option ID = 44767]
2. Ruthnasami [Option ID = 44769]

3. Raja Ram Mohan Roy [Option ID = 44768]
4. Mahatma Gandhi [Option ID = 44770]

Correct Answer :-
* Mahatma Gandhi [Option ID = 44770]



Passage 3

The Voice has to be listened to, not only on account of its form but for the matter which it delivered.
It gave a message to the country that it needed greatly. It brought to the common people a realization
of their duty to concern themselves with their affairs. The commaon people were made to take an
interest in the manner in which they were governed in the taxes they paid in the return they got from
those taxes. This interest in public affairs — politics as you may call it — was to be the concern no
longer of the highly educated few of the many — the poor, the propertyless, the working men in town
and country. Politics was not to be the concern of a small aristocracy of intellect or property of the
masses. And with the change in the subjects of politics had busied itself mainly with the machinery of
Government towards making its personnel more and more native, with proposals for a better
distribution of political power, with protests against the sins of omissions and of commissions of the
administration. This Voice switched politics on to concern for the needs of the common people. The
improvement of the lot of the poor was to be the main concern of politics and the politician. The
improvement, especially of the lives of the people of the neglected villages, was to be placed before
Governments and political organizations as the goal of all political endeaver. The raising of the
standard of living of the people of the villages, the finding of subsidiary occupations which would give
the agricultural poor work for their enforced leisure during the off season, an addition to their
exiguous income, the improvement of the housing of the poor, the sanitation of the villages — these
were to be the objectives to be keptin mind.

There was especially a class of the poor for which that compassionate Voice pleaded and protested —
the so-called depressed class, the outcasts of Hindu society. The denial of elementary human rights to
this class of people is considered the greatest blot on Hindu society and history. It raised itself in
passionate protest against the age-old wrongs of this class and forced those that listened to it to
endeavor to remove the most outrageous of them like untouchability. It caused a revolution in Hindu
religious practice by having Hindu by having Hindu temples thrown open to these people. It made the
care of them a religious duty of the Hindus by re-naming them Harijan.
Mr. Ruthnasami

Which of the following is not an objective of the Government or political organization? [Question ID = 18696]

1. Clean environment [Option ID = 44777]

2. Providing alternative opportunities for better sustenance [Option ID = 44776]
3. Providing housing for the urban people [Option ID = 44778]

4. Improving the living conditions of the poor people [Option ID = 44775]

Correct Answer :-
« Providing housing for the urban people [Option ID = 44778]

10) Find the correct sequence for the sentence given below.

had
of
we
him
heard

Vo e

[Question ID = 18689]

1. 23135 [Option ID = 44750]
2. 24315 [Option ID = 44747]
3. 31524 [Option ID = 44748]
4. 13524 [Option ID = 44749]

Correct Answer :-
« 31524 [Option ID = 44748]

Passage 2

The great advantage of earlv rising is the good start it gives us in our day’s work. The
earlv riser has done a large amount of hard work before other men have got out of
bed. In the earlv moming, the mind is fresh and there are few sounds or other
distractions so that work done at that time is generallv well done. In many cases, the
earlv riser also finds time to take some exercise in the fresh moming air, and this
exercise supplies him with a fund of energyv that will last until evening.



Which among the following is the most logical corollary to the above passage? [Question ID = 18693]

1. Healthy habits ensure healthy lifestyle. [Option ID = 44766]
2. Exercising in the morning gives energy. [Option ID = 44765]
3. Working in the morning hours ensures good work. [Option ID = 44764]
4. Hard working man wakes up early in the morning. [Option ID = 44763]

Correct Answer :-
» Hard working man wakes up early in the morning. [Option ID = 44763]

Passage — 1

Parents can plav a vital role in shaping children’s attitudes to television. Studies have
shown that in families where parents watch television with their children and explain
what is happening on the screen and draw the distinction between real and
fictionalized events, children leamm more positive information from TV than those
children who are left to negotiate television and its messages alone. Sharing television
with their children gives parents the opportunity to make them aware of how TV
programming comes into existence and to explain that there are people and real faces
behind the screen like puppeteers holding the strings of marionettes.

Another area of concemn is the nature of a child’s exposure to the media. Studies
confirm the fact that children watch a great deal of television, particularly Hindi films
and adult programming. In this respect, action must be taken at different levels; first
the entire programme structure of Doordarshan’s channels should be overhauled so
that schedules include good quality children’s TV programmes and that children
prime time is free of retrograde adult programming. Second is parental intervention.
Parents should be careful not to employ the TV set as a babv-sitter for their children.
For a start, parents should discourage watching TV during mealtimes.

To ensure appropriate television viewing, parents should . [Question ID = 18691]

1. choose the content for the children [Option ID = 44756]

2. give rational appraisal of the content being watched [Option ID = 44758]
3. discourage watching TV during mealtimes [Option ID = 44757]

4. watch television with their children [Option ID = 44755]

Correct Answer :-
« give rational appraisal of the content being watched [Option ID = 44758]

Passage — 1

Parents can plav a vital role in shaping children’s attitudes to television. Studies have
shown that in families where parents watch television with their children and explain
what is happening on the screen and draw the distinction between real and
fictionalized events, children leamn more positive information from TV than those
children who are left to negotiate television and its messages alone. Sharing television
with their children gives parents the opportunity to make them aware of how TV
programming comes into existence and to explain that there are people and real faces
behind the screen like puppeteers holding the strings of marionettes.

Another area of concem is the nature of a child’s exposure to the media. Studies
confirm the fact that children watch a great deal of television, particularly Hindi films
and adult programming. In this respect, action must be taken at different levels; first
the entire programme structure of Doordarshan’s channels should be overhauled so
that schedules include good quality children’s TV programmes and that children
prime time is free of retrograde adult programming. Second is parental intervention.
Parents should be careful not to emplov the TV set as a babyv-sitter for their children.
For a start, parents should discourage watching TV during mealtimes.



What could be an appropriate title for the above given passage? [Question ID = 18692]

1. Managing children’s watching TV [Option ID = 44762]

2. Parental Responsibility of TV Watching among Children [Option ID = 44759]
3. Impact of Television on Children [Option ID = 44761]

4. Negative Content of Television Programme [Option ID = 44760]

Correct Answer :-
» Impact of Television on Children [Option ID = 44761]

Passage 4

You seemed at first to take no notice of your school friends, or rather to set yourself against them as
they were strangers to you. They knew as little of yvou as you did of them; so that this would have
been reason for their keeping aloof from you as well, which you would have felt as a hardship. Learn
never to conceive a prejudice against other because you know nothing of them. It is bad reasoning,
and makes enemies of half the world. Do not think ill of them till they behave ill to you; and then
strive to avoid the faults when you see in them. This will disarm their hostility sooner than pique or
resentment or complaint. | thought you were disposed to criticize the dress of some of the boys as
not as good as your own. Never despise anyone for anything that he cannot help — least of all, for his
poverty. | would wish you to keep up appearances yourself as a defence against the idle sneers of the
world, but | would not have you walue yourself upon them. | hope you will neither be the dupe nor
victim of wvulgar prejudices. Instead of saying sbove “Mever despise anyone for anything that he
cannot help,” | might have =aid, "Never despise anyone at all”; for contempt implies a triumph over

and pleasure in the ill of another.

You have hitherto been a spoilt child, and have been used to have your own way a good deal, both in
the house and among your playfellows, with whom you were too fond of being a leader; but you have
good nature and good sense, and will get the better of this time. You have now got among other boys
who are your equals, or bigger and stronger than yourself and who have something else to attend to
besides humoring your whims and fancies. But the first lesson to learn is that there are people in the
world besides yourself. True equality is the only true morality or wisdom.

William Hazlitt

This kind of writing is called . [Question ID = 18700]

1. Letter [Option ID = 44793]
2. Speech [Option ID = 44791]
3. Diary [Option ID = 44792]
4. Sermon [Option ID = 44794]

Correct Answer :-
o Letter [Option ID = 44793]



Paszage 4

You seemed at first to take no notice of your school friends, or rather to set yourself against them as
they were strangers to you. They knew as little of you as you did of them; so that this would have
been reason for their keeping aloof from you as well, which you would have felt as a hardship. Learn
never to conceive a prejudice against other because you know nothing of them. It is bad reasoning,
and makes enemies of half the world. Do not think ill of them till they behave ill to you; and then
strive to avoid the faults when you see in them. This will disarm their hostility sooner than pique or
resentment or complaint. | thought you were disposed to criticize the dress of some of the boys as
not as good as your own. Never despise anyone for anything that he cannot help — least of all, for his
poverty. | would wish you to keep up appearances yourself as a defence against the idle sneers of the
world, but | would not have you value yourself upon them. | hape you will neither be the dupe nor
victim of vulgar prejudices. Instead of saying sbove “Never despise anyone for anything that he
cannot help,” | might have =aid, “Mever despise anyone at all”; for contempt implies a triumph over
and pleasure in the ill of another.

You have hitherto been a spoilt child, and have been used to have your own way a good deal, both in
the house and among your playfellows, with whom you were too fond of being a leader; but you have
good nature and good sense, and will get the better of this time. You have now got among other boys
who are your equals, or bigger and stronger than yourself and who have something else to attend to
besides humoring your whims and fancies. But the first lesson to learn is that there are people in the
world besides yourself. True equality is the only true morality or wisdom.

william Hazlitt

This letter is written by a toa . [Question ID = 18701]

1. father, son [Option ID = 44795]

2. sister, brother [Option ID = 44798]
3. friend, friend [Option ID = 44797]

4. mentor, student [Option ID = 44796]

Correct Answer :-
« father, son [Option ID = 44795]

Passage 4

You seemed at first to take no notice of your school friends, or rather to set yourself against them as
they were strangers to you. They knew as little of you as you did of them; so that this would have
been reason for their keeping aloof from you as well, which you would have felt as a hardship. Learn
never to conceive a prejudice against other because you know nothing of them. It is bad reasoning,
and makes enemies of half the world. Do not think ill of them till they behave ill to you; and then
strive to avoid the faults when you see in them. This will disarm their hostility sooner than pigue or
resentment or complaint. | thought you were disposed to criticize the dress of some of the boys as
not as good as your own. Never despise anyone for anything that he cannot help — least of all, for his
poverty. | would wish you to keep up appearances yourself as a gefence against the idle sneers of the
waorld, but | would not have you value yourself upon them. | hope you will neither be the dupe nor
victim of vulgar prejudices. Instead of saying above “Mever despise anyone for anything that he
cannot help,” | might have said, "Never despise anyone at all”; for contempt implies a triumph over
and pleasure in the ill of another.

Y¥ou have hitherto been a spoilt child, and have been used to have your own way a good deal, both in
the house and among your playfellows, with whom you were too fond of being a leader; but you have
good nature and good sense, and will get the better of this time. You have now got among other boys
who are your equals, or bigger and stronger than yourself and who have something else to attend to
besides humaoring your whims and fancies. But the first lesson to learn is that there are people in the
world besides yourself. True equality is the only true morality or wisdom.

William Hazlitt

According to the author, one should not harbor a prejudice against others because [Question ID = 18702]

1. One should not make assumptions before knowing them fully. [Option ID = 44800]
2. They may also behave ill later. [Option ID = 44802]

3. It is bad reasoning. [Option ID = 44799]

4. They are strangers. [Option ID = 44801]

Correct Answer :-



« One should not make assumptions before knowing them fully. [Option ID = 44800]

Passage 4

You seemed at first to take no notice of your school friends, or rather to set yourself against them as
they were strangers to you. They knew as little of you as you did of them; so that this would have
been reason for their keeping aloof from you as well, which you would have felt as a hardship. Learn
never to conceive a prejudice against other because you know nothing of them. It is bad reasoning,
and makes enemies of half the world. Do not think ill of them till they behave ill to you; and then
strive to avoid the faults when you see in them. This will disarm their hostility sooner than pigue or
resentment or complaint. | thought you were disposzed to criticize the dress of some of the boys as
not as good as your own. Never despise anyone for anything that he cannot help — least of all, for his
poverty. | would wish you to keep up appearances yourself as a defence against the idle sneers of the
world, but | would not have you value yourself upon them. | hope you will neither be the dupe nor
victim of vulgar prejudices. Instead of saying above “Mewver despise anyone for anything that he
cannot help,” | might have said, "Never despise anyone at all”; for contempt implies a triumph over

and pleasure in the ill of another.

You have hitherto been a spoilt child, and have been used to have your own way a good deal, both in
the house and among your playfellows, with whom you were too fond of being a leader; but you have
good nature and good sense, and will get the better of this time. You have now got among other boys
who are your equals, or bigger and stronger than yourself and who have something else to attend to
besides humoring your whims and fancies. But the first lesson to learn is that there are people in the
world besides yourself. True equality is the only true morality or wisdom.

William Hazlitt

“Contempt implies a triumph over and pleasure in the ill of another.” What is implied by this statement? [Question ID = 18704]

1. Celebrating or feeling happy over other’s misfortunes. [Option ID = 44807]
2. Settling differences amicably with them. [Option ID = 44810]

3. Not despising anyone at all. [Option ID = 44809]

4. Ignoring mistakes made by others. [Option ID = 44808]

Correct Answer :-
« Celebrating or feeling happy over other’s misfortunes. [Option ID = 44807]

Passage 4

You seemed at first to take no notice of vour school friends, or rather to set yourself against them as
they were strangers to you. They knew as little of you as you did of them; so that this would have
been reason for their keeping aloof from you as well, which you would have felt as a hardship. Learn
never to conceive a prejudice against other because you know nothing of them. It is bad reasoning,
and makes enemies of half the world. Do not think ill of them till they behave ill to you; and then
strive to avoid the faults when you see in them. This will disarm their hostility sooner than pigue or
resentment or complaint. | thought you were disposzed to criticize the dress of some of the boys as
not as good as your own. Never despize anyone for anything that he cannot help — least of all, for his
poverty. | would wish you to keep up appearances yourself as a gdefence against the idle sneers of the
world, but | would not have you value yourself upon them. | hope you will neither be the dupe nor
victim of vulgar prejudices. Instead of saying above “Mewver despise anyone for anything that he
cannot help,” | might have =zaid, “Mever despise anyone at all”; for contempt implies a triumph over
and pleasure in the ill of another.

You have hitherto been a spoilt child, and have been used to have your own way a good deal, both in
the house and among your playfellows, with whom you were too fond of being a leader; but you have
good nature and good sense, and will get the better of this time. You have now got among other boys
who are your equals, or bigger and stronger than yourself and who have something else to attend to
besides humoring your whims and fancies. But the first lesson to learn is that there are people in the
world besides yourself. True equality is the only true morality or wisdom.

William Hazlitt

One of the following is not an advice given by the writer to reduce the hostility of strangers. [Question ID = 18703]

1. Not to judge according to their appearances. [Option ID = 44806]
2. Not to despise anyone for their poverty. [Option ID = 44805]
3. Not conceive a prejudice against them. [Option ID = 44803]



4. Acknowledge their faults. [Option ID = 44804]

Correct Answer :-
« Acknowledge their faults. [Option ID = 44804]

Passage 4

You seemed at first to take no notice of your school friends, or rather to set yourself against them as
they were strangers to you. They knew as little of you as you did of them; so that this would have
been reason for their keeping aloof from you as well, which you would have felt as a hardship. Learn
never to conceive a prejudice against other because you know nothing of them. It is bad reasoning,
and makes enemies of half the world. Do not think ill of them till they behave ill to you; and then
strive to avoid the faults when you see in them. This will disarm their hostility sooner than pique or
resentment or complaint. | thought you were disposzed to criticize the dress of some of the boys as
not as good as your own. Never despize anyone for anything that he cannot help — least of all, for his
poverty. | would wish you to keep up appearances yourself as a gefence against the idle sneers of the
world, but | would not have you value yourself upon them. | hope you will neither be the dupe nor
victim of vulgar prejudices. Instead of saying above “Mewver despise anyone for anything that he
cannot help,” | might have said, "Never despise anyone at all”; for contempt implies a triumph over
and pleasure in the ill of another.

You have hitherto been a spoilt child, and have been used to have your own way a good deal, both in
the house and among your playfellows, with whom you were too fond of being a leader; but you have
good nature and good sense, and will get the better of this time. You have now got among other boys
who are your equals, or bigger and stronger than yourself and who have something else to attend to
besides humoring your whims and fancies. But the first lesson to learn is that there are people in the
world besides yourself. True equality is the only true morality or wisdom.

William Hazlitt

What instruction is being given when the writer uses the words, “to be the dupe or victim of vulgar prejudices.”
[Question ID = 18705]

1. To avoid being an oppressor or tolerate negative ideas of others. [Option ID = 44813]
2. To keep up a false appearance. [Option ID = 44811]

3. To behave like equals. [Option ID = 44812]

4. To have good nature and sense. [Option ID = 44814]

Correct Answer :-
« To avoid being an oppressor or tolerate negative ideas of others. [Option ID = 44813]

20) (a) (b) (c) (d)

He has told me that he saw mv uncle at the exhibition on last Friday

Indicate the parts of the sentence that contains errors.
[Question ID = 18685]

1. a & d [Option ID = 44733]
2. a & c [Option ID = 44734]
3. b & d [Option ID = 44732]
4. a & b [Option ID = 44731]

Correct Answer :-
* a &d [Option ID = 44733]
21) Mary: John has become calm since he started meditation.

Nita: Not possible. Keeping quite is the reason for his calmness.
Mary’s statement reflects her belief that . [Question ID = 18683]

1. Meditation tends to make a person calm. [Option ID = 44724]

2. John would not have been meditating had he been calm. [Option ID = 44726]
3. John was a talkative person who was also not calm. [Option ID = 44725]

4. All people who are not calm should meditate. [Option ID = 44723]

Correct Answer :-



« Meditation tends to make a person calm. [Option ID = 44724]

22) Nobody answered it, ? [Question ID = 18686]

1. did he [Option ID = 44735]

2. did they [Option ID = 44737]
3. didn't they [Option ID = 44738]
4. didn't [Option ID = 44736]

Correct Answer :-
« did they [Option ID = 44737]

23) Select the odd one from the following words. [Question ID = 18684]

1. Pithy [Option ID = 44727]

2. Laconic [Option ID = 44728]
3. Ingenuity [Option ID = 44729]
4. Forceful [Option ID = 44730]

Correct Answer :-
« Ingenuity [Option ID = 44729]

24) The meaning of the idiom ga/l and wormwood is

[Question ID = 18687]

1. Boil with emotions [Option ID = 44741]

2. Feelings of disappointment and dejection [Option ID = 44742]
3. Feelings of bitterness and resentment [Option ID = 44740]

4. Flame with anger [Option ID = 44739]

Correct Answer :-
« Feelings of bitterness and resentment [Option ID = 44740]

25) The meaning of the idiom, to a nicetyis
[Question ID = 18688]

1. Excellent [Option ID = 44743]
2. Pleasant [Option ID = 44745]
3. Exactly [Option ID = 44744]

4. Delicate [Option ID = 44746]

Correct Answer :-

« Exactly [Option ID = 44744]
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LT A Gl & AT AT AT AT o, TE o-dre, TSAEHT o ATA 4w A1 &% 97
HHAT AT S : Fa=merdi # (9vem & <=1 & 107 Geish= F1 2% Thar-Hard & ST 57
[ERIEIGINF
% T G BT TS A<h AT ol Aal 91 I8 UH0 & Y F ATATT 6T AT AT RGN I b FHIST 2
T L ATLHE ATETH g Geil 7 @i bl d1ed A2 ATl gl
HAGL gl (Add| FHET aGi Hl USTS UL ST < 7 Sd1d STAT A7 g, Ff gl @l 5 gaqh!
I 21 AT 8 STeA=TTa Wil 2r, T 39 S 5 saTded e d a1 =il 99|
GEATSH ST S8 S8 Gl FATL S AT & ATHAAT 2l 2| 37 @l %7 J11297 7
iz = a2l
=9, TSl T Su-Trdig @i § ao oRgl s s @i f 4 & sroragi
TRy SIGT @ i AHEaT TRT T ATl g A Fed AL ABSAA] TeAq: Hgl I 4 2l el 2l
qi=d, el FfErEer & o qrdd [as 67 ArasaHwdr gl g1 T Fae THEA J A9

T wr g Fr e grdr gl
A AL T AT | Gl ol SUAT 6l ST Tl o AL iAo | 192 21 38 937 & &9 7
ERRIRIEIR]

YR § @l S 7 30 oA F g § § SI-54 | SR 2

1.Qq # SRER F ifAfaar

2.9 ® dgurayef vaar

3.9l & uiRreror gg wt fra=

4.f5rd 7 IU-TRY &= # Wa uReRl g Srprefial &t Sif¥idr [Question ID = 18713]

1. 9t [Option ID = 44846]

2.1, 2, 3 [Option ID = 44844]
3.2, 3, 4 [Option ID = 44845]
4.1,2, 4 [Option ID = 44843]

Correct Answer :-
e 1,2, 3 [Option ID = 44844]



LT A Gl & AT AT AT AT o, TE o-dre, TSAEHT o ATA 4w A1 &% 97
HHAT AT S : Fa=merdi # (9vem & <=1 & 107 Geish= F1 2% Thar-Hard & ST 57
[ERIEIGINF
% T G BT TS A<h AT ol Aal 91 I8 UH0 & Y F ATATT 6T AT AT RGN I b FHIST 2
T g TILMAE AqearH g @i 7 2 7 afer =g Ardi g
HAGL gl (Add| FHET aGi Hl USTS UL ST < 7 Sd1d STAT A7 g, Ff gl @l 5 gaqh!
I 21 AT 8 STeA=TTa Wil 2r, T 39 S 5 saTded e d a1 =il 99|
GEATSH ST S8 S8 Gl FATL S AT & ATHAAT 2l 2| 37 @l %7 J11297 7
iz = a2l
=9, TSl T Su-Trdig @i § ao oRgl s s @i f 4 & sroragi
TRy SIGT @ i AHEaT TRT T ATl g A Fed AL ABSAA] TeAq: Hgl I 4 2l el 2l
qi=d, el FfErEer & o qrdd [as 67 ArasaHwdr gl g1 T Fae THEA J A9

T wr g Fr e grdr gl
A AL T AT | Gl ol SUAT 6l ST Tl o AL iAo | 192 21 38 937 & &9 7
ERRIRIEIR]

TR P F=9 fAUg-3] &: [Question ID = 18712]

1. fRrem %1 ga1a [Option ID = 44842]

2. WA YWHIA BT TG [Option ID = 44839]

3. 99 YA HT fAHR [Option ID = 44840]

4. Q! & fd HgHTa ot 3941 [Option ID = 44841]

Correct Answer :-

« Qql P ufa Aegura guf §4T [Option ID = 44841]

3) T F G F WA ST AT A 8, A 5-2ve UTSIHA d AT A F = A
HHEAT ST ST9: =g | ¥ e & T+10d & B0 Goghs ® 1S (B d =519 8 5T FL
[ERIEICIE]
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FraL, EATH ST FI6C ¢ AL A12AT dgd AT 92dl gl 95 9F d of [#we,
GEdTS o AL 2T S G & AL AL AT R & AT gid 2| 7 @wi &1 disar 5
LEEIEEEE]
oI St S 1 gHET TITE AT 21 G Forel AL AR AT odd: AglLl | of il 2l

qi=4, @l 5 i & o s [asr £ g s qwar gt g1 T Hae AREAT H 76T
oI % TG AT G LT ZIT g, AT @ AT, T S Ag! 9% O 9iiEE Ag s g

|1 AT @ b AELT I 2l
AT AL T ATLT | Gl 1 SUHAT o6l AT Tal g AL AT H 9 g gd U H =0 H
AT T |

fhpe, peard S Tal § 31U g1 & FRUT T F 3T HT TG B [Question ID = 18714]



1. THIRTE UTST $T T [Option ID = 44850]
2. ¥ @1 AfAHdT [Option ID = 44849]
3. 3 W BT [Option ID = 44848]
4. TR BT [Option ID = 44847]

Correct Answer :-

« 3T W ST [Option ID = 44848]

4

) AT EET AT w7 AT TaTae a7 Wgeaqyl Wow F F14 FLAT &) THT 6 g O wu
S F AT WIS & AT AT gATE AT BIe Bl F=a o o FIY & (10 S
& T SAFFTEAT UEA TLTH 9 o T WTH B AT AG & Ararateat Jf Fenar g1 T g
T AT AT A ST 6 YT H I TS T qTHT @a g e aeTe 3 e i ae
7 Ford ot oot o 2t 77 € ahew oow wigerst &7 Sorfiar g = R s g g
FTEATGEAT A1 98 & [ TTHTT AT Ewral &l TaTe, & Tor g ST T9T T-aL@mal a1
srer it agd AT AT FTE 6 W@ 2| Ty SIE & A9Taar Gharaad ff #He i E
R FEE T AT AT AT H T 9 A2 T qTd i 21 TE1 T g ST
TS START 7 aTdE s 7 aty w7 9% £ 59 tE o ae i aiens g deft og=
27T F AigAT agATHRET F Areay g Gew f ara s &) Aiger e 4 42
SraTe TS E AT, TANE, AT § AEA ST s & (ST At B Aigera g
ST AT AT @ I TS 8T & A T o GTHTI HTEmTE & FeThwe  ArEmT
ATHTEAT F7 F98 F4919 (9@TE 20T 21 9 59 UL AFL AcA 9= § F9+1 a1d gl 8, 394 o
= FHT 57w & e i Er g & aw i vt w ey § 5% 9t giiwra
Fafz #tEr g
AT AETod | B AFHAATIET HA T FL AT (G 0FH Fdedl 5 9] LT T g 21 8
TTeAT (9167 & FaTeeg & (9 A T & ATH-ATT AT A% ST E i S AT e T
T A T gt ft T, AT 9 T T & WigAT Arrsn 4 3% 19 & S|
% ad T Al & fEadr o i A4 A7 o e 6 Ae, qernm & HuT

Zrml

UiEe S9d SV i) Wi IrHRSAT GRT 9141 41 8, SHH U7 Pl § AT 82 [Question ID = 18716]

1. % IBR gRT [Option ID = 44855]

2. WU &1 BIT-BI g9d g AT IRBR GRT [Option ID = 44857]
3. WY $1 BICI-BI F9d g Uamdl I GRT [Option ID = 44856]
4. IRIF & I BIS G [Option ID = 44858]

Correct Answer :-
. W4 B! BIC-BIC! g9d g YA IS §RT [Option ID = 44856]
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7 Fird aroet =it o 2t 79 2 =tew wm wigenat & serer g & e s g g
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ST ST ST AT ATHATE FTE AT L2l 2| Tirg FIAE & AATE AT (HATaaT fl FHN &
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ST THART 7 ArdE s o7 Faty v 9wy € w9itE ok o aierst T deftege
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HTHTEAT F1 F95 W14 (2@TE 201 2| & 9 TL AFL AT a0 § F9A1 a1d &l 2, 399 7
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TR B F=H9 fAwg-a%g 8: [Question ID = 18715]

1. Afge gifdaeRor & A1y § e Wraes [Option ID = 44852]
2. HfgaT GRIfdaaHRuT [Option ID = 44854]

3. e TaTaciad gRT AfSd JIRIBRUT [Option ID = 44853]

4, 311 Tracs [Option ID = 44851]

Correct Answer :-

« i gxfads o & qrey § e Wradsd [Option ID = 44852]

2 Figwt aeirE § arfds saras s Agcaql FiF & 574 HLa7 2| 567 & forgary #4977
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TOe ATAT AT @ I TS 8T & A E o G HETE & FeThw ¥ AT
ATTEIT R TUE WE1E (EETE 20T g F HF UL AR ATCH(aETH o AT A9 Fgd | 8, 399 o
T BT 5 T T8 TG I B T A =TT WAty 5 e § F gt g
fatg ol )
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3 wiw & gf I P GRT PR 6 8: [Question ID = 18717]



1. AMfg® ST [Option ID = 44862]
2. WPHR d Ifgd IHT [Option ID = 44861]
3. WHR 9 W B! I [Option ID = 44860]
4. X34 BT I [Option ID = 44859]

Correct Answer :-

« IHEfe® I [Option ID = 44862]

7) frwfrer sfdwa frd7d 3= & w2ri 7§ 99 & dwe1 TaAToE g B IH aw

£y
T FEAT H G F AFT AT 747 21, g1 97 19 F a7 FAATET w aqia T ZT A

AT Y EET d e = A 21 3 R g T A A S am e 2
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HATEAT G0 Tal Bl &, Tal A1 ST % o9 3 4 UF (Ges| &1 A6 A TeFhdl & af gHL
e F7 T ST TEATH

oot et @t P1-31 91 rafiie gHIfad o gR $1 3R SRR $Yd! 82 [Question ID = 18719]

1. T3ST9 &1 T[AM 81 ST [Option ID = 44867]

2. 3T BIS T [Option ID = 44868]

3. 951 B WG Id i1 [Option ID = 44870]
4, Aiifaeran § g9 ST [Option ID = 44869]

Correct Answer :-
. fosm @ BICIE] RSl [Option ID = 44867]

8) Fiwr =T sidwa i g SA=s &1 T+ o &1 & SASe1 ATaToAT 399 F1 6L 74T
Ey

T FETT | Her il G ATAAT T &, gL AT S & 315 [AaTE 6 019 54T 1A S
T T EE d T st E e e e e A S a2
e Em A e Em A rr H Ao g f g d 7g 2 T 95 0%
BN AE! OF O AL 5 910 56 & aFd( &7 S748 AFMg Had & (h&d § ol ATd & a1
FTICATE 2T 9T &, T T A T A AT A € e 0 TenE A ana S A e iy
T FEATHH A A & qT1 ok AT 1 ST AT oF = Ak [om o ST F a1 yiaarg &
STaAT AT el B 6, Tel AT 9 0 E 9 3 59 UF (AaTs! w #y Ag Tewd g ol gaL A
STa ®7 & AT T2 2l

T B F=79 fAwg-ag 8: [Question ID = 18718]

1. WA & UGS Uge | §R Siid &1 Ugd, [Option ID = 44866]
2. TR I &1 §g [Option ID = 44863]

3. ¥ H g [Option ID = 44865]

4. YTTeT® ¥9 ¥ §R oiid [Option ID = 44864]

Correct Answer :-

« Qd T GEHIRTET [Option ID = 44865]
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YRA H GG B AT 59 31 & AIIial 3 $1? [Question ID = 18710]

1. ToiY [Option ID = 44831]

2. 3T [Option ID = 44832]
3. IAS [Option ID = 44834]
4. I [Option ID = 44833]

Correct Answer :-
« T [Option ID = 44833]
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« %dd 2 [Option ID = 44828]
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1. §g THN [Option ID = 44896]

2. f§7 9T [Option ID = 44895]

3. ARUTT THR [Option ID = 44897]
4, 9gsfE THN [Option ID = 44898]
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o SRIHE THM [Option ID = 44897]
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1. SRS ¥ T Had gART 919 el § [Option ID = 44892]
2. SR =P F T 919 TTed 8 [Option ID = 44894]
3. ST =P & ST aTe et § [Option ID = 44893]
4. BRIV =¥ T Had Ugdl d1d Tet & [Option ID = 44891]
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« BRI ¥ § T 19T TEl ® [Option ID = 44893]
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1. SRS Y ¥ Had gURT 919 el § [Option ID = 44920]
2. SR =P F T 919 TTed 8 [Option ID = 44922]
3. ST &P A I aTe et § [Option ID = 44921]
4. BRI =¥ ¥ Had Ugdl a1 T&t & [Option ID = 44919]
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« BRIV =¥ | ST d1e Terd @ [Option ID = 44922]
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1. @9 T HagT [Option ID = 44881]

2. & qUT 3THYT [Option ID = 44879]
3. &1 a7 SIS [Option ID = 44882]
4, 3if¥redomT Tyt 37 [Option ID = 44880]

Correct Answer :-
o &1 qUT SIS [Option ID = 44882]
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1. &g 99N [Option ID = 44917]

2. Sgsife IHN [Option ID = 44918]

3. AU FHRT [Option ID = 44915]
4, 37 99N [Option ID = 44916]
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3. 9RIf% ¥ BT AT [Option ID = 44925]

4, fodft R SR HAT [Option ID = 44924]

Correct Answer :-
o 3fBRU Y §Va.:| [Option ID = 44923]
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1. ot off s <fier & ot By 7 819 3T [Option ID = 44876]

2. 3MTU%! SH §gd i Sfa A ST [Option ID = 44877]

3. 3O URUTFRAEY 3MUH! BRI STEEH 84 AT [Option ID = 44878]
4, 3TqHT 3BT THT T T A AT [Option ID = 44875]

Correct Answer :-

« D! SUH 9gd 3HfAF T A4 <1 [Option ID = 44877]
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Frafafe area @ ufe |
1. s @ aga wWig § |
2.3d9R $I g qTg- THAT 9gd 35T AT & | [Question ID = 18729]

1. SRS ¥ T Y aTed TTad § [Option ID = 44910]
2. @G =P | Faet Ugel aT Tet § [Option ID = 44907]
3. B &P | Had gar a1ad el € [Option ID = 44908]
4, SRR 2P A ST aTer et § [Option ID = 44909]

Correct Answer :-

« MR = q Pae gORT 99T TE 2 [Option ID = 44908]
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fFrafafea are @) ufe |
1. 3 & I AP qTg< I+ el |
2. g3 39 ¢ F1 fedbe @I @ il fwell &1 STell @ | [Question ID = 18730]

1. SRS P T T aTeg T § [Option ID = 44913]
2. SR =P F ST 919 TTed 8 [Option ID = 44914]
3. GRS &P Fad GO 9197 T § [Option ID = 44912]
4, TR = A FHad Uedm a9 et § [Option ID = 44911]

Correct Answer :-

o« IHRIG Y ¥ Had Ugar ald Tg § [Option ID = 44911]
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e &1 Be ¢ b, “fia &1 e ot g Sfiawa o & arfafved ok 1S arf 7 8, ifop: [Question ID = 18723]

1. g Titq eafal 3 T IR SaRe R 2 SR 99 € Bis U9 81 SU | [Option ID = 44886]

2. AT A i & 0§ 3G A4 P SO Id a1 & - oref fepTem Y IR #1 | [Option ID = 44884]
3. TS Tid TaT 1 e et 31 I 8 | [Option ID = 44885]

4, faftrs AT 3 IGD! T [T BT AT B B BRI BT | [Option ID = 44883]

Correct Answer :-
« Td% T 9 DT U 7 3 BT § | [Option ID = 44885]

24) 77 3% ¢ Wiy ST - E S T E TEH T AR T A 5, T AR AT S R e o
HTETTH AL Ta) A e AT e g T & T 500w OF SRy 8099 5, TgT 8l 5ad iy, g
TEFE T AT AR

Ui 9T o Ty T S AL e T WELT Al 5| e ATHT ST o T
TR AT e 6 | Fi T FaTe o SRR T ST B AT S aTe T o e SR T
ST & AT ST ATSF Hoe s 9 F | FATHAT SRS S A RO B AR
ST TEI L ? T HT THIE (3 A9 1 5o 56 Urn d STHu T o9 gaTE 9T 97 (% gt s
s AT O AT B O AR g T AT TR O g Te g T st ae v deftewe
Ty FEe AATE, T IEe st w0 T S T S ad T S U s S g A g me T
AT EHT ATFT AT B TETHAT TR AT ToF o8 THATE [ ST g & =0 Sra i gaae 9 =7
THEATET ATEF T SRR TeAa BT R

e e G Sim e s, w i aE s e Fo g TR s O 0F
ST S I TR F AT B ST & AT e T 95 & oua | o R 99 50 g SHanT
Tl AT T 588 79 FFed ST F AT TR e T 5| AT @S S g A S s T8
TERTIR(T TF T4 & — TF UGl A1 8, o sy Sy & o o5 g Sy atam ¥
o ST FE 3 AR 87 WA R T Iy AT AT T F RO 5T GF TS O I AR ST
T F R o e Fr R 8 Saw ame, REm e O s s v m eeanw
o wie & 1% wta 7 Bl s A 8, A1 s TSRO o 5L 0% 90 E gl W) AT 5
FW T & FAATF 59 F AFR T AT 77 F Fegagae B T g T TR

o FRt =g & T ot v o e B s e g, T # ey, v H
T, FTE AT T B SR s T w e A BT E S S e e Oy o
ATECHRTC 0 10 %1 HEATT FA0Ts (5 95 AT FT Fg 0 &, 95 €917 (50 9T | 51 T3 a9
TOCAT FTAVA F o Tg Fehe (AT AFaT F FATHIT FT R 1% o9 57 59 T FT 90 S0CE M, 5
S FETIT AT AR ¥ AT &, 95 99 FTe? T9 T R AT IR, TRl A aar

:ﬂ'|
=2 A

TSl /g BT fAeIH BI-9T 82 [Question ID = 18727]

1. 3TfEHMAdT [Option ID = 44902]
2. S&RdT [Option ID = 44899]

3. 3HIST [Option ID = 44901]
4. 'Xdl [Option ID = 44900]

Correct Answer :-
« §&RdT [Option ID = 44899]
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T IR B U BIIC: [Question ID = 18724]

1. TR A G- gaTd T § [Option ID = 44889]

2. gIE-YaE UTh § T8@ W [Option ID = 44887]

3. Y9e-YuE <ea- W & iU aerd § [Option ID = 44890]
4. 3T HRUT gH Tpfd I 4R T § 3Md: [Option ID = 44888]

Correct Answer :-

« YRR A 3-8 gaTd 7T § [Option ID = 44889]



